T2 9OFE HAEMRENRSE

2 B RS (FR294128208~210)

PRRE T IKBE LB, KBREXEN B4 [
A I} H ==Kl HE Gt w =
128208 [#ER JE~BED 500 5 2,500
128208|J RA BA~HR~LHE~EE 14,750 5 73,750(FE % - ek
12A208|L v a2A—1%  |12/20~12/21 (2AR) 24,070 1 24,070
12A208 %81 RTFLY VILIKE 10,800 5 54,000
12A21H|[J R I B~ 2 H B~ R~ FER 14,750 5 73,750|FEH - ek
12R21 8 |#ER BEA~PE 500 5 2,500
128208 B E5A I & 75 1,000
2R 210 |EREREETE | R e EHE 670 5/6 2,072 1477 *6/65 2,297

XKOAD S BLARD
128218 |#AEHME L > & Hh =R 1,077
FHEL IRAT B F#0R 1,080 5 5,400
5= RER A 5= RER A 500 5 2,500
BLEA finZe B ki B A iy 591 1 591
e finze B Ak B E . KB B EIFRET.

RERFEBIL LB EEE. A 5,940 5 29,700

= H 271,058




